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1. Use signal words to help identify cause and effect relationships in the text.

Cities
Nowadays, most people choose to live in cities. Why? For many, it is the lack of employment opportunities in rural
areas. There are many more jobs in the city. This wasn't always the case. In the 1700s, the Industrial Revolution led to
an increase in jobs in large factories. Because the factories were all located in cities, many people were forced to leave
the country for the city. To this day, jobs in cities tend to be better paying. Farming jobs are often poorly paid for the
long hours worked. Consequently, many people have moved from rural areas into urban areas. Another reason people
continue to choose city life over country life is better access to basic services such as hospitals and schools. People
living in the rural areas still have access to education, however the choices are much greater for people living in cities
due to the larger population. As a result, parents can choose the right school for their child. The closest doctor in rural
areas may be an hour’s drive away, or even more. The proximity to health care is a convenience many people won't do
without. Hospitals in the city look after a much larger number of people than hospitals in urban areas, and therefore
city hospitals are also better resourced. Consequently, they often have technology that smaller rural hospitals do not

have.

2. Show the cause and effect relationships you found in the text.
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the country for the city. To this day, jobs in cities tend to be better paying. Farming jobs are often poorly paid for the
long hours worked. Consequently, many people have moved from rural areas into urban areas. Another reason people
continue to choose city life over country life is better access to basic services such as hospitals and schools. People
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